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QUESTION 1

Click the Exhibit button.

Create remote custom feed®

Name* @ Custom-feed!
Description @ Write description
Feed Type* @ Infected Hosts

Type of serverurl* @ @ hitp

) hitps
Server File URL" hitp: 10101010/ eeds
Usemame © lab
Password @
Update Interval* @ Hourly .

Referring to the exhibit, which two statements are true? (Choose two.)

A. Events based on this third-party feed will not affect a host\\'s threat score
B. SRX Series devices will block traffic based on this third-party feed

C. SRX Series devices will not block traffic based on this third-party feed

D. Events based on this third-party feed will affect a host\\'s threat score
Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/release-independent/sky-atp/topics/concept/skyatp-integrated-
feeds.html

QUESTION 2
You are asked to implement the session cache feature on an SRX5400.

In this scenario, what information does a session cache entry record? (Choose two.)
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A. The type of processing to do for ingress traffic

B. The type of processing to do for egress traffic

C. To which SPU the traffic of the session should be forwarded
D. To which NPU the traffic of the session should be forwarded
Correct Answer: BC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-packet-basedforwarding.html

QUESTION 3

You have configured static NAT for a webserver in your DMZ. Both internal and external users can reach the webserver
using the webserver\\'s IP address. However, only internal users can reach the webserver using the webserver\\'s DNS
name. When external users attempt to reach the webserver using the webserver\\'s DNS name, an error message is
received.

Which action would solve this problem?

A. Disable Web filtering

B. Use DNS doctoring

C. Modify the security policy

D. Use destination NAT instead of static NAT

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-dns-algs.html

QUESTION 4

You issue the command shown in the exhibit.
Which policy will be active for the identified traffic?
A. Policy p4

B. Policy p7

C. Policy p1

D. Policy p12

Correct Answer: B

QUESTION 5
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Click the Exhibit button.

Communicate with JATP server...

error: [Error] Failed to communicate with JATP server when retrieving
registration status.

Please make sure you are able to connect to JATP server. If this issue still
remains, please contact JTAC for help.

When attempting to enroll an SRX Series device to JATP, you receive the error shown in the exhibit. What is the cause
of the error?

A. The fxpO0 IP address is not routable

B. The SRX Series device certificate does not match the JATP certificate

C. The SRX Series device does not have an IP address assigned to the interface that accesses JATP
D. A firewall is blocking HTTPS on fxp0O

Correct Answer: C

Reference: https://kb.juniper.net/InfoCenter/index? page=contentandid=KB33979andcat=JATP_SERIESandactp=LIST
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